Environmental Impact




Hmmm. What Is 11??




Example Of How It Works

Sunlight passes through The Earth warms up
the greenhouse gases and gives out heat.
and warms everything
on Earth. Some passes through the
greenhouse gases,
OUTER SPACE but some is trapped inside,
warmigig up the g@arth.
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Endless Cycle

Figure 1: ic A of Envi | Issues
from Economic Activity in Japan. (Yen/year)
Source: Compiled from data gathered by Itsubo, Inaba

Waste 0%
0%
Ozone depletion 1%
Acidification 3%

Eutrophication 0%
Photochemical oxidant 2%

Total cost of
environmental
damage :

1.5Trillion yen

Toxic chemicals 3%
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——1 Do you want the polar bears to lose their homes and die?

| Do you want them to become exfinct?




